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Let vl_zboole 0 : t=0 be given. Let ml_subset_1 : t=>t=-0 be given. Let
kl_zfmisc_l : 1= be given. Let k1_bvfunc_2 :1=-1 be given. Let m1_eqrel_1 :
t=-1=0 be given. Let k4_enumsetl : 1=1=1=1=-1=1=>1 be given. Let k5_bv func_2 :
t=>1=1=>1 be given. Let k2_partitl : t:=t=-1=1 be given. Let kl_enumsetl :
t=1=>1=>1 be given. Let k2_xboole 0 : :=>1=>1 be given. Let k2_tarski : t.=1=¢
be given. Let k1 _tarski: 1=t be given. Assume the following.

VX0VX1VX2.kl_enumsetl X0 X1 X2 = k2_zboole_0 (1)
(k2_tarski X0 X1) (kl_tarski X2)

Assume the following.

VX0.(—vl_xboole 0 X0)=(VX1.(ml_subset-1 X1 (kl_zfmisc_1
(k1bv func2 X0)))=(VX2.(ml_egrel-1 X2 X0)=(vVX3.
(ml_egrel-l X3 X0)=(VX4.(mlegrel-1 X4 X0)=(VX5.
(ml_egrel-l X5 X0)=(VX6.(mlegrel-l1 X6 X0)=(VXT.
(ml_egrel.l X7 X0)=((X1 = kd_enumsetl X2 X3 X4 X5 X6 X7)=((X2= X3)V
(X2 =X4)vV((X2=X5)V((X2=X6)V((X2=XT)V((X3=X4)V((X3 = X5)V(
(X3 = X6)V((X3 = XT)V((X4= X5)V((X4 = X6)V((X4=XT)V((X5 = X6)V((
X5=X7)V({(X6 =XT7)V(k5.bvfunc2 X0 X5 X1 = k2_partitl X0 (k2_partitl
X0 (k2_partitl X0 (k2_partitl X0 X2 X3) X4) X6) X)))))ND)DIND)ININ)))
@)
Assume the following.

VX0VX1VX2VX3.VX4VX5.
k4_enumsetl X0 X1 X2 X3 X4 X5 = k2_zboole_0 (kl_enumsetl X0 X1 X2) (
kl_enumsetl X3 X4 X5)
(3)

Assume the following.

VX0.VX1.k2 tarski X0 X1 = k2_tarski X1 X0 (4)



Theorem 1

VX0.(—vl_xboole 0 X0)=(VX1.(ml_subset 1 X1 (kl_zfmisc_1
(k1bvfunc2 X0)))=(VX2.(mleqrel.1 X2 X0)=(VX3.
(ml_egrell X3 X0)=(VX4.(ml_eqrel-1 X4 X0)=(VX5.
(ml_egrell X5 X0)=(VX6.(mlegrel.l X6 X0)=(VXT.

(ml_egrel.l X7 X0)=((X1 = kd_enumsetl X2 X3 X4 X5 X6 X7)=((X2=X3)V
(X2 = X4)V((X2 = X5)V((X2 = X6)V((X2 = XT)V((X3 = X4)V((X3 = X5)V(
(X3 = X6)V((X3 = XT)V((X4 = X5)V((X4 = X6)V((X4=XT)V((X5=X6)V((

X5=XT)V((X6 = XT7)V(kb-bvfunc2 X0 X6 X1 = k2_partitl X0 (k2_partitl
X0 (k2_partitl X0 (k2_partitl X0 X2 X3) X4) X5) XTON)ON)IINDI)IN))))



